0 $tvuctuve of the optivial solction: G3
Xz [X, Xz, ..  Xu] =199, .. Y] L9

§uﬂoose [ = [z,/zZ, -, 2k] = L,Cﬁ()(/ 7>.

Case (: X = Yu

T)/I€%/) Z i :?Ci,,,,:(jw C(V)O(
[z, 25 - 2z ]=LCS(0e, . xm] (9, 9.-])

CC{‘)e 2. Xim i 7!4

Thew Zu X Or Zk#Yn (or betl:)

Cose 2a X Z Yo cncd 7k 0
T W:Lcezxu m-i1, Y[7])
(056 2-}1: )C.A-,;t%w 0(‘/“\/( Zk#‘-jv,

Then W:Lcsm/.w}, Y[ v-1])

But we clowt 4gewe kviow. /L so e Aot ko
wichh Cose weve u.

=5 Pick the bedt of the tuvo. (try botld)




“@ Qecur/vfeWCeI

&9

Defivie C(i))= levgth of LCS(XL-d, VL)

\Ve wewnt to covwfufe C (v, 1)

O

Cliy)=9§ 1+ Cli-yj-0)

iv[ = orj:o

W L)Y0 coned X[1= YT

vacex (C(i-1,5) c(c,)-0) if ()20 awd X[14 Y]

ks @ So[t/e b&ﬁf@l/‘?«ufj

Fl v vmixn wietvix c[f]};j]i

B =) 4
o\loo O * ) - OOl
. R o ,
[0 ’
0 ——
L\f/
CLG-T+ 5‘ \
cowPufe
cLIy1

0
5 ——

- S [ve teevun ]

Algoviths LES(X,Y):

fovr ¢ <«o to wm Ao [i, 01«0
for jeo to vt do (lojl<o0

for (1t to v o
fov j«i(to un o

X1 = YI5] thew clijlet+ cli-g)-1]
else ¢ [ij]<«—wre (CLi-t,41, L, j-A)

retuv v ¢ [wr,n]

CEK&WF[@ ‘)



- Corypect ! Yes, by steps O ot @ ®d
—TJevwinetes! Yes

—Eﬁ[.‘(,'ew‘ﬁ? OCV"V’> tivme auncd space.

(own You think of a woy to use less spo{ce?
Qeo/c/cffom {o PQU/'S % DA&s
Cowvisicler tlais L/@(‘?I/?ffoj DAG: (o
!

)

0 ( 2 . & "
0 @ 7 O % - Driagoval 80/76 to
+\+ @ vzoze () Vies weigbt
¢ O—= 0> - 7 F X1 =Y0)1
HERN Al other eches

horve e ' Lt O

f ¥ .
REe %

5-t £ R
Tl/ze lOr/z?ee‘f poﬂc[ﬂ n 6 coﬂ/eep@vzo/s to the
IOW'“7€96 CO V1TV 70 V1 6%’49@7(46\%6 075 X eovicd Y.
et with o 51/‘46(,/

e i [ l t _
e, omt e e ale test chf& 0[79;/(*%%%

Mﬁo(f'v[fcaf cowv1 OF the 5 hov
T[/zug, weEe Ccav 90(v@ 10w7€9{ Co Vy7e §ubs¢0?w@
b9 *Ffmo(v-ba? 60[t/c“w7 [0W7€9f iom% iv a spectic e
— e Lorve vecheced) LS to lowye‘;‘f pC«‘fM



